1/2/95 Chap 1 - 12

Question: State which rule will enable which transition(s) in Fig. 1.4, and draw
the four nets that will result from the four nets shown in Fig. 1.4 by the complementary-
place transformation.
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Fig. 1.4 Exercise 1.1: Nets before the complementary-place transtormations

Answer: Rule E1 enables tin only N,. Rule E2 enables t in N, and N5. Rule E3

enables t in Ny and N4. Rule E4 enables t1n Ny, N3 and N,. The complementary-place

transformation transforms the four nets in Fig. 1.4 into those shown in Fig. 1.5. Note that

the weak transition rule enables tin only N, 1n Fig. 1.5, as the strict transition rule (E1)

enables t m only N .
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Fig. 1.5 Exercise 1.1: Nets after the complemental-place transtormations

Note that a transition t in an infinite capacity net is enabled if and only 1f (1-1)
holds, whereas a transition t in a finite capacity net is enabled if and only 1f (1-1) and (1-3)
hold.
1. 4 Problems
Prob.1.1. Table 1 lists some typical interpretations of a transition, and 1ts 1nput

and output places of a Petri net. Add three more examples of your own to the table.
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